Opérations avec deux fractions mixtes (I)

Nom:

10.

Date:

Calculez chaque résultat.

s3-13 =
53 +2% =
s;+25 =
52437 =
52 +1- =
Sex 1y =
11i7><5§=
5§+2%=
5%—4%:
52+ 32 =

Note:
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Opérations avec deux fractions mixtes (I) Réponses

Nom:

10.

Date: Note:
Calculez chaque résultat.
41 11 41 11 30 15
BT T e T T8 TSR T8 T 7 T %
1 2 11 12 55 24 79 9
R e M S TR T, M TR
1 3 21 11 21 11 32 8
Bt gty sty s 4 5 1 78
s2..3 2724 _ 27 7 _ 18 _ 6 _ 23
"7 5 77 7 5724 120 40 40
4 43 11 43 7 301 37
3717 TR T T TR T T 88 T s
4 1 29 4 116 11
Xl = TX3 = 3 T3
4 3 21 23 483 7
17X =7%% = & T 6
2., 17 4185 41126 _ 42 02
3 15 3 15 15 15 15 5 5

3 11 38 67 76 67 9

54— =2 20 2 20 2

7 14 7 14 14 14 14

2.1 _ 17 4 _17 16 272 _ 125
37716 3 16 3 749 © 147 — 147
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